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Vypočítej:

58          95          42           78             64             72           33            21                
42         -36          49          -28            13            -13           58           -19

(6x6) + (42:7)=

(5x9) – (64:8)=

(9x7) + (5x3) =

(56:8) x (49:7) =

15:4=                    39:6=                 50:7=                    46:6=

Vyřeš slovní úlohu:

V tělocvičně je 42 chlapců. Děvčat je tam 7x méně. Kolik je 
v tělocvičně děvčat? Kolik je tam celkem dětí?

Zápis:

Výpočet:
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